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QUESTION 1

Refer to the exhibit. The code and the error message that are received when the code is run is presented. 

What causes issues authenticating with Cisco GMM API using the web-generated API key? 

A. firewall that blocks authentication ports 

B. incorrect username and password 

C. incorrect GMM Cluster selection 

D. incorrect key size and data encryption 

Correct Answer: B 

 

QUESTION 2

Which statement explains the correct position of a PLC within the CPwE architecture? 

A. PLCs are always part of Level 0 ?process control. 

B. PLCs are part of Level 4 ?site business planning. 

C. PLCs are part of Level 1 ?basic control. 

D. PLCs are placed at Level 2 ?area supervisory control. 

Correct Answer: C 

 

QUESTION 3
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Refer to the exhibit. Which two statements are true? (Choose two.) 

A. That is a heatmap projected on top of a geographic map. 

B. That is a treemap projected on top of a geographic map. 

C. The color red usually stands for lower values and the color blue usually stands for higher values. 

D. Another suitable visualization technique for this image would be line graphs. 

E. The color blue usually stands for lower values and the color red usually stands for higher values. 

Correct Answer: AE 

 

QUESTION 4
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Refer to the exhibit. When a laptop is connected to a device via a serial connection, which action makes the output
readable? 

A. Change the baudrate in the connection settings. 

B. Reboot the device in case a firmware error is the issue. 

C. Change the power level of the device. 

D. Change the unicode settings to UTF-8. 

Correct Answer: A 

 

QUESTION 5

Which two data sources are used with a visualization tool such as Grafana? (Choose two.) 

A. Microsoft Power BI 

B. Kibana 

C. InfluxDB 

D. Elasticsearch 

E. Tableau 

Correct Answer: CD 
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